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156872600 lguwgm unnuw POUL npwi 1000 1000 1
15800000 COnwdbhm X X X 1 000 X
15911100 uhpuan POUL jhunp 1500 30 000 20
15811100 wujhpun (snp) £OUS wnnuh 3000 3 000 1
15891700 Bhiwnph gning POLE npwd 15 000 15 000 1
15200000 COnpwdkln x X X 48 000 A
wizfuwenul puighl dbebnglin
18141100 P 20
(nbnhbwuwin Sbnbnglbn ) £ | s s
L fursinel pahl dEelnglbn
1 22 000
18141100 (bt bnlingtihn ) ROLL qnLjg 550 40
18100000 Dhnuwiibhp X X X 28 000 X
18311190 fuug wplbn [a]u]VTS hun 3500 14 000 4
18300000 DOnwikin X X X 14 000 X
dlwbguudpy oguwgnpdduwi -
18421140 T = blusthi/ POUL n 30 15 000 500
18421130 dbnbnghkn POUL hium 740 1 480 Z
18421130 akinlnglip PO hun 170 170 1
18400000 Clnuibip X X X 16 650 X
[uyueniybn b wugnuowlybhnp
18530000 i} 50 5000 1
(shGwpusnwlust wnph hudun) FERK kg i
18931200 |lhmphpm4npﬁl.uu prnp POWS | qubwwebe 5 000 5000 1
18831230 [nbnwinnup POLL hiisin 5 200 46 000 5
18200000 Chrpwdblin X X X 56 000 X
19241200 Qnnéwd plbn /pwipwlyu EOUL b 1000 5 000 5
19241200 QoY wé plibn ipwipwlyu POUL aGunp 2000 40 000 20
19241200 qnpdnwé plibn AOUL dabnp 2500 19 500 7.8
19200000 Clinwdbhn X X X 64 500 X
19431800 amnbpny gnpdbin ph)Gp AYhuwpmpnd ROUL huwn 1500 T 500 5
19431600 Liinp phj POUS huwn 250/ 1 250 5
18431800 antrbnny grpdbyne ph b dwlphpwiy PCUL hiuen ] TO0 1
19431800 ﬂ’:&"hﬂ“"‘ R PO Ayttt pOLC huitn 2 000 4000 2
19441300 uhbpbunfly Ywnh ph) PO R 200 2 000 10
19400000 Dinwibip X X X 15 450 X
19641000 wing ik phy Gl weuply, wnph hudopn PO Lrnth 1100 33 000 30
19641000 wnghtphy Ghughh wispl, wiph huwduen POUL hiin 570 570 1
19642000 win{EEP{BGWIRG Wk, UbGnwhG POUZL hun 530 530 1




18600000 Dhnuwdbhp X X X a4 100 x
19721200 pupdn wiprpel pbsp POLLE hurn G600 GO0 i
18700000 Conwidkin X X X 600 X
22111120 gpunwpwih gnpbp POLL L 100 000 100 000 1
122100000 Okl X X X 100 000 X
22311500 pruubilun b EOUL huwn 60 41 760 696
122300000 Dlinwibilp X X X 41 760 X
22451170 dmiunph puipnbp POLL il 40 000 40 000 1
22451240 ghunwiliwl widbwghp /ppwiliop/ [a]ulN Ty huwn as 21 000 GO0
22400000 Rhnwdkin X X X 61 000 X
22811150 npwinbnpLn PO i 00 3 500 5
226811150 Dlpuwdbin X X X 3 500 x
24211200 dwgbbghnudh opubn []al0Y rpud 3 000 3 0oo 1
24211270 Yuijahnuih hpnpepuhn POLLEL e 1 000 1000 1
24221300 unwlhilsn PO rid 12 000 12 000 1
24200000 |Dlnwdkip X X X 16 00D X
24311114 Soipwlpul ppry POUL ol 4000 4 000 1
24311125 Gwrnphnudh uny b Junh Shn! PO g 500 500 1
24311126 {wnphnudh hluwdbrwpnuduwn PO npwi 1500 1 500 1
wihopguiwlwh ppribbp
24311190 (o it L 85%) POUL Lg 1200 20 400 17
243111890 wihongquiwiwh peneiEn (wnwpgnt) POUL o 5 000 5000 1
24311270 Lpwiniunfilj unr poLUL rpd 3 00D 3 000 1
24311480 wprudh whpiwbgulun POUL npwd 4 500 4 500 1
24311570 pnpwd gop poug ik 3 000 3 000 1
24321160 mpp & POUL oL 4 000 4 000 1
24321230 unnjnLn| PoUL nou 2000 2 000 1
24321240 o-puhim POLIL e 1700 1700 1
24321340 Lpuwing 5. [=TaiT zha 2000 1& 000 2
24321430 uppnbuihl penalbn (|hinbwppny) POUL npud 20 000 20 000 1
Ybinnh L fuplbnb Snlghniw) udpkph
24321550 it tiibin fuitannb POUL nwid 12 000 12 000 1
24321650 ghgbphi PRLUL ljg 1200 1 500 1.25
24321660 Sphink 2 poUL Lig 3 000 15 000 8
24321660 uninls POUL fwnp 1200 18 000 15
24321660 White spirit Barfoline /) POUL thunp 1 500 3 000 2
24300000 D Onuwidkhp X X X 137 100 X
24451110 dheuwuniusuigui G et wiubdn) POUL qnija 200 20 000 100
24451110 dhpwunwuwgwd Gjmpsp PLUL hunn 2500 12 500 B
24400000 Chnuwdkkip X X X 32 500 b
24910000 unuhlbdlbp PO huin 1300 & 500 6
24911200 unupld, Ednjufi POUL huwn 480 480 i
24811400 junufilid PO hiwtn 450 3 150 7
24511400 unuplid i) PO, hiiLn 1 000 28 500 15
24900000 il X X X 38 630 X
30141200 huwpuwiiwpp, gpuublpulyuhh [=]afN i hun 5 500 19 500 3
30191140 wilidh hunwundwl wiwpiguGbn POUL hawtn 2 D00 20000 10
30192121 gnhi qinhlyuninn PO hautn 150 22 500 150
30192125 twplbplibn pOLE hawn 450 4 500 10
30182125 dwplbp super, uls pupuwly pouL hiwen 700 3500 5
30182128 anhy ghjwihi EDUL huun 200 2000 10
30192130 fwenpunlbp Mwphy [2]LNES hiun 500 1 5040 3
30182130 dwunpunbGbp aouUL hiwn &0 1 000 20
30192135 gpwihunk dhpnuly, Swinpunh hudwp POUE wniLh 350 1 750 5
30192135 gpuiphunb hemly, dwwnfunh hubuwgp £oUL wnnuty 50 250 5
301892160 sunphiulbibn PrUL hin 350 10 500 30
30192230 uliny” Gplynndwih unubdyuid POLUL huan 500 12 500 25
30192230 uln;” Bplinndwih unulagusd |ub CLOLE hiLwrn 1 550 4 650 3
30192230 uljn* Bplbnndwhp unubdywed Gkng o]l hunn 750 3000 4
ulng” Gplyynndwbh wnubayid
30192230 0 : PO huwstn 880 1760 2




Pz p-npudwnbnuwihl depblwbbnh

30182350 PO d 60 000 60 000 1

sy GGk A ks
30192710 unubdwdwnpin, gpuubiulwinh B0 huwin 350 17 500 50
30187111 Lpwpihgh dhunwnwewnt Yuasp, tnen POUL i 100 20 D00 200
30187122 nagued, wewunduwub g fublyng 2O wnirith 350 1 750 5
30197231 "”uju‘““"“"“‘”' UriRdRpuaha M0, POUE hustn 10 30 000 3000
30197232 prpwuauliwly, wnwgulion, pnpjuw POLE huuwn 120 24 000 200
30197233 pripwupubwl, phing, prgw POUE hiin 100 10 000 100
30197234 prpwwaulivil, Lnaun wgdng POLLS huwn 1000 20 000 20
30197235 prEwpulinly widpdjng ROUL hiwiLn B0 2 400 30
30197235 pripwnull” wipulyng PO huwin 200 20 000 100
30197235 prpwuslwl’ wipulny POUL hun 150 3000 20
30197321 Lwnp;, Gpisk 20 phpgh hwdwn PO hieuun 1800 2 000 5
30197631 ghup, A4 dnpduinpl 21x29.7) POUS wnnh 2 400 480 000 200
30198231 Gwdwlih opwn, A5 dkwguhh POUL han 30 1500 50
30199232 Spuwp, God, A4 dlusgwihh hundwn ROUL hawiLn 40 2 000 50
30199233 #pwp, dbé, A3 pnpdwinh hwdwn POLE hwin 50 2 500 50
30199281 dpip EOUL hawiun 20 2 000 100
30199410 hlpluwdpumb prinp, A4 POUL hawwn 100 10 000 100
30195420 pnune bznudbnh husdwn, unuebdywépm] POUL unnLh 200 1 000 5
30199430 gnugE Dpnudbbnh, vpguilibbpnyg POLL unnih 1100 16 500 15
30199510 unjwmpuwpninp, pEnpny prugp g hwd POLL hiLun 80 1 GO0 20

erph hwdwnwihy §powniwaniBnh
30199760 Rk 860 POUL Lyuuny 1 000 5 000 5
30100000 Dhnwidkhn X X X 848 660 X
30211190 LwbAmwlwD hwdielwrghs Obp [T i 500 000 500 000 1
30211220 ubinuwih huwdwlawnghyGbn 4 huwin 245 000 490 000 2
30211280 hwdwlwnghi wipnnep dbynud Cg haun 210 000 420 000 2

hiwdwlwnghsGenhl wedidnn
30230000 G i 00 o

uwppwynAnACEn UPS 1200-1500VA < fw 300 00O 300 000 1
30234400 muuniuply lujwewly, wnohm), DVD (o4 hawin 400 80 000 200
30234400 ;‘;’;‘W” e L 74 P 150 15 000 100
30234400 g‘;"‘“‘“ st ciousy g, < huwin 200 20 000 100
0234620 3tz hhangnugml CL hwwn 2 500 12 500 5
30237112 ulinuglul pinl [ 74 il 100 000 100 000 1
jozariaz  |wnewphl uwnpbiph Shwgdwt jwnkp c 8 10 000

fushi £ fpw 10 000 1
30237480 hwdwlwpeswihb dnbpunp 4 hwn 61 000 122 000 2
30237490 mwudwilwpagsuwihb dnipnnp 4, hawiLn 73 000 73 000 1
30200000 Chnwikip * X X 2 142 500 X
31211140 wiushnuhi Ok POUL N 30 000 30 000 1
31211400 wiliswinpg-guiinps POLLL htin 500 2 500 5
31221230 gl Swynfulbp POUL npuwd 200 000 200 000 1
31200000 Chnuwilkhp A X X 232 500 X
31321170 Elnuwbwigyusd dugmifulibn POUL npwd 80 000 60 000 1
31321250 mwn nprujwin” suwednn, 6 G PO muid 500 500 1
31300000 Chnwdkhp A X X 60 500 X
31510000 bl juwduwbn POLL npiwd 850 000 850 000 1
31500000 Chnuwdkip X x X 850 000 X
32324800 hbemwnwgnyglsp CL hewwn 650 000 650 000 i
32333300 puwihl tnbuwdwbwgnh:bbp (DVR) [#4 npwd 400 000 400 000 1
32341110 plupdpufunulbp 4 nowd 200 00O 200 000 1
32300000 Chnwdbln X x X 1250 D00 X
33131110 wunwd bwpndwlywh dknph gnpdhplbp POLE huutn 300 2100 7
33131140 winuidh funguiliuslisp POUL i 10 000 10 000 1
33131220 il wpnichwlywl ok histn PO npwd 5 000 5000 1




33131280 wirwilupnidudwi dypuinbbn POUL hwin 2 200 2 200 1
33131370 prp OGpElwtn fpnph nhulwpeelhs’ POUL hawun 300 300 1
33131370 pnp Ok philwbbn fw)diugb’ PoUL i 480 1820 4
33131370 pnpn dbpblwilsn (ppbghGn POUL Fiwnn 2 400 2 400 1
33131370 pnp Bhpblwibp gy bbb/ PO HLLiLA 300 6 300 21 |
33131370 pnn SbpblwlEn /gy ublbsn! POUL hiwn 360 12 240 34
33131370 pnp dbpbiwbiGp i ublobn BOLE huwn 660 11 880 18
33141117 pusipusly POUL Yy negpind 3 000 2 000 3
33141118 ﬂ’gmﬂr‘m"“ (), wohmausht POUC hutn 350 7000 20
33141122 hedwl pdlpulyust POUL [ 100 6 000 G0
33141156 petyyuiliwG dknbngltin ooUL Al 30 000 30 000 1
33141157 fpunwnlp L uwgptn [N hin &0 3 600 60
29141211 pet Ll w g;nt‘rmﬂhn L upupaiga i ppiLe - B0 3600 60
33100000 | D OnudbGp X X X 113 540 X
33711240 wiitinnghl POLL nniih 330 3300 10
33711480 ofLUR POUL hwin 230 1610 T
33711480 odwn [Mwiljulyul 90gp./ poUs __haun 110 440 4
33711480 ofwn Mwiljwlwb 100gp./ POUL hwLn 220 880 4
33761100 qniguipwih prng POUL hiwn 150 150 000 1000
33TE1300 dko b upphslbp [2/]¥Ty i 16 000 16 000 1
33761300 atinph ppb upphslbp 20U hun 400 2 000 5
33761400 wihdbnnghybbn [auliTs hin 250 12 500 50
33761600 upphy Jwiyb, pudpulyw POLLE hun 600 9 000 15
33700000 |Chnwidkip X X X 195 730 X
35111380 wizinugwishs gngling POUL huun 700 2100 3
35121250 unhsbbp POUL hwun 11 000 11 000 1
35121320 wilr|unwibgnipjwl whuwsughlGbn 4]l T4 nnwid 500 000 500 000 i ]
35100000 Lkl X X X 513 100 X
35811170 hiuiwigabuun PO o 100 000 100 000 1
35800000 Donpuwdbip X X X 100 000 X
38411400 pum G w whi POLL ry[iLLid 30 000 30 000 1
38400000 COnwikin X X X 30 000 X
39111140 wgnoibn PO npwed G00 000 600 000 1
39100000 |OGnuwdkbp X X X 600 000 X
36221170 ublnh twpwisn EOUL b 4500 4 500 1
39221170 ubinh wnwwnuwiibp [=[al¥ L 7000 7 000 1
35221190 et onh LnwpLalGn PO Fiwn 3000 & 000 2
39221190 pedib e pph uwpuebGn PO hn 8000 & 000 1
39221190 putibyne oph umupuslbp PO hiun 12000 12 000 1
30221380 | qruyGbp FOUL huin 150 600 4
38221420 funguslwlbsn oo hiun 300 21000 70
38221420 ngulwylis poUL i 1 040 1 040 1
38221420 funguiliwlylibp 2oL i 870 1740 2
39221430 1] i ahboEn POLL hiitn 2500 10 000 4
36221430 Dlgwphs sph UpshGlap POUL huwiwn 3500 3 500 1

it Gbp, punguulwlyibn L wy
39221470 |ysbguunuwyhi duwpnnn wuwpwgwibp POUZ, hawn 2 500 12 500 5

fGwgne dnn

wty b, punguubulyGn b
39221470 Lblguwnwihi dwppnn wwpwquitn PCUL hiin 1 500 7 500 5

(bl duwilu me unguiluilg)

by G, fungquibilylsn L wy
39221470 hbgunuwyht dwppnn wwpueguibn POUL hin 1300 13 000 10

(i o)
39221490 wiymt Gglbn POLE hunn 240 2 400 10
39221490 |yt GegGbp PO hiwn 750 750 1
39224331 [nny) wyuwundwut PO hutn 500 2 500 5
39224331 rpng uyeeendusubs (o enqueliulng) POUL hiin 3 300 16 500 5
39224520 nuquwignpanigul pnunbn PO huwan 150 300 2
39224540 duinbnglbp PLUS hin 100 200 3




|rqu.|£|u.|lq‘ gcrubE Oy, Ghunruw,

hawdwp {fuchbineg)

35241140 PO hunn 100 2000 20
fonly
30241140 |MuCwl pwutiljubught, dbunwniw, pOUE hun 250 2 500 10
dhenil
35241140 Iuwibiwly’ qpubljuwlpuwghl, dbunwnjw PO huwin GO0 3 000 5
39241200 lypuwunibn POUL huwun 2750 2750 1
35241210 dlypwin, gpuwubiuwlwiho POLL hwin 1 100 2 200 2
39241210 dyprwien, gpwubbudpuhl fupiedwgnd RO hawn BOO 4 000 5
39263200 qruuGwyuiht ghpp (bhnpn) POLUL hwn 1600 8 000 5
39263200 gpuwubiyuiljuht ghpp (dd) POl hawin 4 500 22 500 5
39263320 opwgnig POUL nwid 55 000 55 000 1
39263400 ity POLLE wnnLh 100 5 000 50
39263420 widpuuly, dEunwnu, dbd 2]nli TS Lnnith 400 8 000 20
39263520 bl POUL wnni 250 1250 5
39263520 ubniwil, uhohl PO wnnith 450 2 250 5
389263530 ubduwl), ki PUL tnnith 650 3 250 5
39263600 gnguinnich, gpuubijuljuhl POUL hawn 500 2 500 5
39292510 puibnh, wywunfily POUL hwwn 150 750 5
35288200 Luigwbgp POUL P 160 000 160 000 i
39200000 Dhnwikip X X X 416 DBO
36224530 uiph wubnbbn AOUL hin 200 400 2
39224530 Y waukn b POLL i 300 600 2
39514200 upphs uhlipbunply eouL hiun 1500 7500 5
39514300 pnphk (Gp” gl L PDUL hiwun 1000 5 000 [:]
39514400 prpG upphsbGnh wyumdwon phuwGiubnp PDRUL Fiwn 420 2100 5
39541110 LD PDUL hiwn 400 800 2
38500000 Dlnwikin A A X 17 400
39711230 i blunpulwl philhl PLUL hiluiur 15 000 15 00D 1
thnzblny 2, hgnprupgnaln” dhghbhg
39713433 puipdn, bbpdddwb hanpnuginubp’ POUL huwin 175 000 175 000 1
dhohliha puindn
39713500 wpnnLy UL huwin 20 000 20 000 1
39721510 Spwinwpwgrighs EOUL huwn 25 00D 25 D00 1
39700000 Dnuwibkip X X X 235 000
sesi1100  |ON Pundugnighgln (wyinndunnh pOUS | npuwd 60 000 60 000 1
hawdiuwin)
hawinwlf dwédnly, hworwlyh gy bgdud
39812100 kit iGN Fankie POUL g 3 000 30 000 10
Guwpnng dwdnlybEn L dhnzhln
39812600 Awjuimwhiwinn chazhy POLL hun 270 &0 1
38831210 uguwuph puusgiuel nGunbpabiunion PDRLUL hwn S00 3 600 4
39831210 uywiuph (Ywgdwl hknml POL, hiutn 1070 5 350 5
30831240 dwpnnn Gjnupbn Mwlby/ eeLUL hiun 3120 3120 1
39831240 Gwppng Gauphp fdpnund POLUE FiLLwr 2 000 20 000 10
39831242 (Uwgph thrgh dbepny (Wwiwpm hwdwp 2l L{W lyg 1200 12 000 10
(Yuwgeh thnzh abnpny (Julwn
39831242 hetun/300a/ PCUL hiwin 280 840 3
(Jwgeh thnzh dtepnd (wlwgn
39831242 hadunidgoal PRUL hiwwn 380 1520 4
|Jwgeh thngh dtiepny (ywlw|n
39831242 haudwn/d50a) PO i 540 1 080 2
Jga31244 odwr, inbunbuwlwi 200gp. BLLL hwun 120 480 4
39831244 o, wnbunGuwljub 140gn. PLRUL huwn 380 1 900 5
39831244 oéwim, wnlunbuwljuwb fjw pwhwihs’ [2]a]8 [ huwn 550 3 300 6
39831245 odwn, hbnnd 2] ]9 Lhnp 500 25 00 50
39831246 Wwigph b nil PUL i 3 320 G 640 2
39831246 |Jwgph hhigmuy £OUL jhuap 1500 7 500 5
39831247 AisIY By e R migh POUL hwkn 1 300 65 000 50




wiutnwhiwbnn hbgnely” uwihwbgnygh

30831247 POLL P 470 4 700 10
huwdwp (uunwiynig)
39831273 hwwnwiih fwppdwl bnupbn ooLug i 2700 21 000 30
39831277 odwnd wrjunniwn nhowgbubspibn POLUL L 3 000 15 000 5
39831280 wwgwih dwippbin dheng PoLL hian 1700 102 000 60
JeB31281 wilulyh dwppdw (we (dhbpndhepw) PO himn 510 2040 4
30831281 wigubih Gwpniw |wp B0 hsn 500 15 000 a0
30831282 Lpwhny p dwpnbjni |wp POUL hun 100 10 000 100
38831282 Lywibny p dupnljne | E0Us hin B50 17 000 20
30831282 Ljwhnip dwpnibin |we PO b 1000 5000 5
39831282 bnup Tupnin (g Asnnih oeng Felalils husn 250 500 2
g fiw nnd
Jaa31282 ywhnip dwippbin (we /ubnwih hong' POUL hiwn 80 540 -]
39831283 hwenwlih (o wgdwl (we BoUL huwun 500 25 000 50
sga3spoo | Ul dwppkine G, wwanduiut, POUS huatn 1800 19 000 10
Lin)
39838000 et by, unumpusub poUs huun 1000 15 000 15
30839300 anguphuly POUL hiun 1 500 7 500 5
39800000 COgudkhn X X X 566 BED X
42711170 wgph dbpblwib PO npuul 300 000 300 000 1
42700000 COnwdkin X X X 300 00O X
44111410 [7gll] POLE nowid 500 000 500 000 1
44111411 Ubply, gpwtdmubnb, whphi POLLL hwn 1200 3 600 3
44111420 L) rouS npud 60 000 &0 000 1
44111421 agnLbwlpnig (Ynjbp) iuhagdbim POUE nowd 150 000 150 000 1
44141110 funnnywiiikn POUL o 20 000 20 000 1
44171400 Oppwehgbnlbn PLOUL hiuLn &80 880 1
44191400 Unugunupt) wihl uwjbp POUS hiuun B 800 71200 a
44191400 pugnuspbjuihl uwbp PO huwan 13 600 40 800 3
44192100 winj bbby pinphah (pve) tpdngn | POUL nnwi 60 000 60 000 1
44192200 g alall Ty npi 10 000 10 000 1
44192700 bl yuagqualiphy, Boplaupupuslyusd POU huLn 1500 30 000 20
wiphuwenwbpbbnh huwdwn
ynahb, Gbplyuwnwpuwlwb
ATRIe wfuwnwipbbp Guwnwnb ne huwdwp RS an 350 -1 2
44100000 Chnwdbhn X X X 948 580 X
44322500 Gugnepulibn [&]afW [ i 20 DOO 20 000 1
44322510 jowgmuiEnh wrupwguiisn POUL haun 310 1240 4
44322510 duwgnepulbbnh wiwpegudbn PO hwin 800 2 400 3
44322510 dwympulbbph wwpwgwibn POUL hwn 1100 3 300 3
44331100 Lhuwyunhliibn POLE huuiun 400 400 ]
44300000 L0y wwdsli X X x 27 340 X
44421720 wwhunnnuhbp POUL i 700 000 T00 000 1
44423400 g guulnlyiitn G hapwdjhg wioweplwisn POUL nnud 50 000 50 000 1
44423600 nel G0 Gk n EOUL nowi 60 000 60 D00 1
44400000 Dhnwdbip X X X 810 000 X
44511200 abnph unnglbn POUL hauwn 2 400 2 400 1
44511210 dbnph unnglbph stnpbn pOUL hawiin 100 100 1
44511210 4bnph unnglibph sEnpbp RO hwn 250 250 1
44511260 hnywemnpg PR dEwnn 1000 1200 1.2
44511260 hnyLepnunp oouL iy 150 200 &
44511270 dnpakp POUL hun 900 200 1
44511320 fuwpianglbp Ywd phphilbp POUL hiiun 200 200 1
44511320 fuwpunngltn Ywd phphsGbp N4 oL i 600 B0 1
44511320 [uwpinngltp Ywd phphiobp N8 PLUL iy 400 400 1
44511340 gy hynilh wwypbn POUL L 70 000 70 000 1
44511350 wtnninwlwihwbiEph uwgpbp (Ggwnhn) PoUL hiLuwn 450 3150 T
44511350 wnnuunawluihuwbiph uagpbip (Ygwnhn) PLUL iy 180 570 3
44511390 npahplbph prlbwllbp POLS N 5 000 5 000 1




44511400 qnpahplbph Swubp (hnfundh qiublibp) | BOUS nnwi 10 000 10 000 1
44521120 el thwlpubibn 2ouUg o 30 000 30 000 1
44521230 wdpulyibp (uwsdnwm} eouUL il 20 00D 20 000 1
44521230 il e {w)jwundwub) BOLL 1 15 00D 15 000 1
44531120 wpnniunwlny Guwiuhsbbn Y enwlylbp POUL Ll 10 000 10 000 1
44531130 wLnniuuljuwgud (Rimpk ) POuULS L 10000 10 000 1
44531150 snippbnh Ghwgiwh hwpdwpwhpdbp]  POUL wwn 2250 2 250 1
44531150 Ygwzninpbinh dhwgdwl hwpdwpwipbtp)  POUL haLuwn 1700 1700 1
44531160 glnGnhpotn L wunmumnwlybn POLL nwd 25 000 25 000 1
44531180 bl (wpnmuiljuisho POLE Nl 60 D00 60 000 1
44500000 Do wdkip X X X 2649 620 X
446511400 il POLUL g 200 000 900 000 1
44511480 Luwihiwph; Gbp JGBpdhgy BOUL hiLn 3500 3 500 1
44611480 L s BGp POLL huwn 120 240 2
446500000 Dopuwikip X X * 803 740 X
44831500 (nudf bEp POUL hwin 2000 2 000 1
44800000 Chnuwidkip X X X 2 000 X
44921500 Sbupdwdhl ghuyuwghi POUZ huitn 350 700 2
44521500 Shhwiwahl” ghuguwhi POUL hutn 1900 3 800 2
44800000 Lkl X X X 4 500 X
D Onuwnibhp wewynwip 12 146 460
2. UGS LULE
1 2 3 4 5 & 7
rrbbph tnbnwrnpnud fwwpult noibnh 50
45421112 T POUL nwid 000 50 000 1
Obpliwh b waywlSwusndwl 4 1
45440000 ik i) PO AL 820 000 B20 000
45421130 thuupnh Bk g wé wiuwenwbplibn nOUE i 120 000 120 000 1
45400000 Chpwdbln X X X 800 000 X
dwlnipwihl opjlunbtph i 200 060 1
45611200 hsaltsie il e ML 3 700 000 3700
45611200 Ig_&nuhlh[ln X X X 3 700 000 X
Conudblp l:l.lz[l_immll.lﬂﬁ 4 690 000
3. Dwowm gl
1 2 3 4 5 & 7
hudwlpupgguhl vwpptph
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